X W E E
( B 4Af 44 48 18 )
E 4f 5% 3H 31H
1 EREANOHE
(1) 4 7w EEEANEBES
© OME mHE (OHEFESRL BEESSHY)
@ OHESEREAN ORI EEEAN DS EEREA
OHEHEBEEAN BEOM
@ OESHERHE MWESHEREH
(2) EEFOFEH EREEAEBHFEERIT TAD1942% #
(3) BRAFBAEHAHE WEfn424 78 15H
(4) BRAUBFEHEHAE WEFfn 428 78 31H

2 BEEXoOHE
(1) AkiEs
| mRoswn | B & 5 5 25 A 9 R B
. . . | ERBRBETHERET | —BRIBK 265K
B RERE | esnioss BRI 54
(2) L
mE YL E %4 £ W B s &
R EAE -
Beer B | LT R
TAO1942%#

(3) NZ¥EHE UML)
(4) BHEREFFEENCHERES TERIFAEL-HHE
a0 44E 5H 280 @ FRSEEREORER CRASWEORE
(5) YHERFHEENICHR GFRIE2ET) L T E MR
(FZYFEHEL)
(6) HHASFEENICHOBE, BHEICBWTHEEShENE
(FZYFmERL)



EAG EEEN A £
FrEf  HETFERT T4 01942%F

[xEme gmgs ] [ [ [ ] |

M PE H &
(41 54 34 31H #HE)
1. & & 553,662 TH
2. AEHE 18,602 +H
3. MEPESE 535,050 +H
(BAAZ: M)
WEEE | e -HE B 1,190 69,058
EFE S 58,244
EHHEE 9,624
Al E F EAEE 267
i = H A4 dnfil 88,189
=S HE 5L A fih 4,417
A & R 335 82,937
E R{Rbx 28,455
IR 24,147
A B OH HARAT 47114 78
B O & FEERT B BhEEfh 38
G EE T 0
(B EPESB) 214,984
EEEE | & ) k5 A KR 171,218
B R aR (i Tl — 7 —ER A 57,839
wOE W B8 3 fRfth 9,505
Hh ERE 325 300 B a4l
TESZBEEL CTHRE EE 93,976
2 T T IA GG B AR 837
YZ7boaF 43
B MAAE NTT 91
H &' & 1= Bt 3:035
PREE L& H A A= fa i 1243
(BEBEAR) 338,668
(B E & #) 553,652




(B TH)

TREhE E E & 4 BHEL 3,320
FIZE 231
FERAT v 206
EFIAKE 204
=T e 193
TvyiaFR 149
AIFRERIE 145
7 kv 140
FUIN B it 1,066 0,604
* H & FEHEEE 1,468
K5 A 589
vl 596
TIXENES 2ai
ZHAT AT A 182
hERLEHEM 790 3,862
H Y & RO 1,434
J& F (Bt 594
BiE i) 409
GELIERRES: 469
JRATHE L 175 3,081
SRtk i AR 71
RIATH BB 934
(FBaEaE) 13,602
EEafE | RHME AL 5,000
(BEAEAS) 5,000
(A & & ) 18,602
MEE | &8 X & 9,980
T EHEILS 30,000
Fi SR ILIRFE L & 180,000
TR R 44 315,070
(#i & 2 & 3) 535,050
(BERMEEAS) 553,652

+ ( OBAFAE BE £ OB50EAFTE )
b= 7 ( MEAFE O8 & OBoRICEATTE )




A ERREAN B E &

FIEM  H s di (P ERER] P 019423K

= & A

DxEprsnss | | | ] | |

o

(4% 54 34 318 #E)

(B4 TH)

g K¢ O W 7 & il
e H & fE F H & %A
1 B e 214,984 I B AR 13,602
HA B U4 69,058 H # 4 h,654
A Al GE % 267 1 {5 A% 0
= 88,189 x B £ 3,862
B R 4,417 W0 & 3,081
* X A & 52,937 " =% & 0
i B M 78 At A B 71
w4 38 RELTE B 934
B HBINe 0
I B E &= 338,668 I EEaE 5,000
1. HTREEE 333.( Th R W AL 5,000
g ¥ 171,218
Hed I b 57,839
W OE W 9,555
o ] L 381 (BEEE) 18,602
T EL32 Ef 93,976 M OE'E E o B
B B 837 a1 H & KA
2. MERIE T 134 1 BEARRE 9,980
VI T =T 43 E® A & 9,980
7B BF IAKE 91
3. FDfhE E 4,758 I FIER & 925,070
W 4 3,535 EE Me 30,000
{5 PR B4 1,223 TSI RV 180,000
RS R A 4 315,070
(Mg ESE 535,050
(BESE) 553,652 | (ABERUSEELF) 553,652




EAG ERIEN EE S DxEmeagnss | | [ ] 1]
Brieth BEWELE T4 01942984

H % & FH OE

(#4448 1H ~ 5 54 34 31H)

(B : M)
i H 4 |
I FEHER
A BREBEZRL
1. % %2 n % 243,945
2 EXEBH 292,628
AELEEEEK 48,683
B i EBEFERE
1. E ¥ % 25,287
Q.EEXEH 14,126
Pt R EER LR 11,161
(F % # %) 37,522
0 %% 4 I 3%
Z R O E 8
3 i A 19,621
FOMOELENINE 4 19,633
mEX42H4
x # f A 25
o i & 0 25
(% ¥ # % 17,914
vV % B Al %
BIAE 551 24 & g 0 0
V % B 8 %
EE @ bRHE 4,822
EE G 2118 26,078 30,900
(BL3 1 87 24 31t %) 48,814
AR, ERBLR R i1
(M4 H # 8 % 48,885




(S TR DAL S0 W 1% 161
0 HENW oo forronsy | g | I S
(1) g () 80 ;
Bk i way | wweww | JECE o % =
FEEAHC P2V (3)
(58 AR DHE S0 W 4 1600
YRR
(bd-3) (k) W@ 7 B s .
e o e vl | Sl | ewors | gy R R =

S Y K

2 Y

LRI |5 7 B3 E B

FHREHE @Y (1)

WMECTEIOT I WEHIEH wmod

> B Y IR

AL




B

X
o
i
o
1

EREN BE =
HER A E K K

T, BEREN BESOGTTAESHEE (551 45 48 18 H4F 54 34 31H°
FT)DEBR O EORRE IOV TEERLTWELE,
FOFRERIZHOWT, LTFTOEBYEREW-LET,

(BEEDHIEOE)

T, BESZOMEBERSFEICHE 75130, BEENLZOBBOPITIRITETERL
BELRBERSFEHEL, EBROMEORREZFEL - L, FERELROELE,
Fo, BEHREFTNCKFRBSORELHELTV., StEEH MEB &, BE0RBE
ROESEHES) OBEELEMLELI,

(BEERR)

(1) FRHFEEFL HEFROER (FHITA) I, IEADRREELRLTHALDE
BWOET,

(2) =FIEEL, BH T EFHHELELLGEEL, LROFEEHOTHLEAHL VB LD
LEOET,

(3) HEEHIL, BRRUER (FMHTH) I, i RO MEORREZELRLT
WALDEFROFET,

(4) BEOHBRYITIZETIRENTTANIL, BEELIIER (FHHTH) (GER TS

BERGLEEIIRDONET A,
IOEFEEEREEFELIL, %1 5% 5H 18H
FEARLBELHVEE A, EEEN B A S ‘

EREN &L S L O (R N s
HER & E



